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l.] Factor the polynomial X+t - 19x - 24 using the
factor theorem. $\37\“~L\'(L A N1

@Facmr 27278 v 172807

(5) S e g oo ke

(50k* + 10k* = 35k = 7) = (5k—4)

4.) Use (ompang oeliciet method o Fnd He divisoc

dividend: x° + x* + 7x — 7, quotient: x? + 3x + 13,

remainder: 19

@‘f‘h&tis the equation of the graph shown below?
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@ The polynomial 18x° +mx” +19x— 2 has factors
3x—1and —2x + 4. Detemmine the value of m.

@The area of a rectangular gardenis

3 et x4 D) m*. The garden is (x +2)m long.
How wide is the garden?
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@f(x)=0.3(1_2x)3(x+3)6
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